¢ ERHRSHENRSR

(NEMRERRR (EFIBEFH)

i HERE R ZREH aEEH SiEE
21 94 93 87 93.5%
22 107 106 94 88.7%
23 99 98 95 96.9%
24 95 95 90 94.7%
25 105 105 97 92.4%
)FRMERHR (EFHBREFR)
i HEE & ZBREH Rk GEE
21 82 82 82 100.0%
22 73 73 73 100.0%
23 84 84 83 98.8%
24 77 77 77 100.0%
25 83 83 82 98.8%
Q) REmERHAR (EFHEREFH)
FE H A ZRER BEER BEE
21 89 88 83 94.3%
22 83 83 80 96.4%
28 94 94 93 98.9%
24 86 85 84 98.8%
25 93 93 87 93.5%
(OB ERERRR (EFHEREFH)
i HERE ZREH SEEN SiEE
21 10 10 5 50.0%
22 10 10 9 90.0%
23 10 10 10 100.0%
24 10 10 10 100.0%
25 10 10 10 100.0%
G)ERB S REMERGR (EFHERETFH)
i HEE & ZBREH Rk GEE
21 43 42 40 95.2%
22 38 38 31 81.6%
23 40 40 40 100.0%
24 37 37 32 86.5%
25 41 41 34 82.9%
(6)ER R R E BT E REARR (EF M EREFHD)
K H A ZRER BRER BiRE
21 38 38 37 97.4%
22 45 45 40 88.9%
23 37 37 34 91.9%
24 44 44 43 97.7%
25 38 38 36 94.7%
(NeEH EMER AR (EPH)
i HERE ZREH SEEN SiEE
21 59 55 53 96.4%
22 60 59 50 84.7%
23 58 58 46 79.3%
24 64 64 55 85.9%
25 56 56 52 92.9%
(8)ZFEHIAME REARR (EFH)
£ HEE & ZREH aREH Gl
21 1 1 0 0.0%
22 1 1 0 0.0%
28 43 43 41 95.3%
24 40 40 39 97.5%
25 44 44 34 77.3%
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(9) BIIEHER
@ IBERFER

mE R SA B i X R E | = o
M b X 0 0
T R 20 4 B =
& = 21,972 1,605 141 144
M b X 0 0
TR215 & kS
£ = 18,597 1,599 101 92
M b X 0 0
TR22% 8 kS
=y 16,088 742 52 59
M b X =
E 23 K kb
=
1 HEERIE S RHEER TEERERERRBRINTWDEEEZR,
F2FI AR, BEEK XK, ORKXDIEFICEEINAOBHBREREINREERE LTS,
@ #EESHER
AEEAAER O
F i 3 X s N H B F # %2 B F ¥ ERICDEL I  BEBREREH
REZRE-EHR
E R 21 F FE M W X = 75 52 31 13
& 3| 9,734 7,392 5,055 2,043
E R 22 F OE M W X = 89 53 29 8
& = 11,127 8,163 5,773 2074
Rk 23 F M W X = 93 73 51 23
e 3| 11,687 8,765 5,654 2,063
M L X = 95 78 46 12
FORL 2 4 5 E *
& = 11,100 8,387 5,339 2,102
7 1 T R - 98 70 47 17
T R 25 F E il
=z = 10,178 7,653 5,259 2,049




